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|lcm= mm
2Ccm= mm
5cm= mm
3cm= mm
| Omm= cm
20mm= cm
30mm= cm

50mm= cm
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OOOOOO HREHMH

3cm= mm
5cm= mm
4cecm= mm
8cm= mm
30mm= cm
60mm= cm
40mm= cm

0mm= cm
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6cm=
2cm=
Tcm=
dcm=

| Smm=
22mm=
4 7Tmm=
38mm=
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OOOOOO HREHRMS =]

24mm= cm mm
68mm= cm mm
7TTmm= cm mm
|l9mMm= cm mm

lcm3mm= mm
2cmSmm= mm
ecm7mm= mm
4cmimm= mm
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OOOOOO HREHRMS =]

67mm= cm mm
25mm= cm mm
| 3SmMm= cm mm
55mm= cm mm

ecm7mm= mm
3cm2mm= mm
7cmbSmm= mm
gcmémm= mm
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| m= cm
2m= cm
S5m= cm
3m= cm

| 00cm=
200cm=
500cm=
800cm=

3 3 3 3
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4m= cm
Sm= cm
2m= cm
Im= cm

400cm=
800cm=
300cm=
900cm=

3 3 3 3
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| 20cm= m cm
240cm= m c¢cm
370cm= m cm
690cm= m cm
2m | Ocm= cm
3m60cm= cm
4m40cm= cm

8m30cm= cm
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OOOOOO HREHRMS =]

360cm= m cm
480cm= m cm
720cm= m c¢cm
| 20cm= m cm
5m40cm= cm
6m80cm= cm
2m50cm= cm

4m30cm= cm
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225cm= m cm
372cm= m cm
| 86cm= m cm
457cm= m cm
8m20cm= cm
2m70cm= cm
6m80cm= cm

TM50cm= cm
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| km=
Skm=
6km=
Skm=

|000Om=
3000m=
6000m=
8000m=

3 3 3 3

km
km
km
km
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|200m= km
| 300m=km
2700m= km
4800m= km
6400m= km
5km500m=
2km3800m=
Tkm300m=
Skm400m=
4km |1 O0Om=
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2
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3500m=
7800m=
200m=
2800m=
3700m=
2km3800m=
6km200m=
3km400m=
Tkm500m=
Skm300m=
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2750m= km
4689m= km
2478m= km
9843 m= km
| 765m= km
S5km800m=
6km356m=
4kml 25m=
Tkm683m=
5km555m=
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6789m= km
1234m= km
3456m= km
5432m= km
2191 m= km
2km345m=
Bkm765m=
TAkm3 | 8m=
2km9 1 8m=
4km77 I m=
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> IR Y Sy N W [m] =
MERTESEM

2 BF 6] = 7
3 B = a
5 BF [ = 7
4 BF R = 7
1804 = B
1204 = B
2409r= B
3009= B
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| B 30%
| BF fid] 3 =
2 B[ =
| B5fE | 0%
| B5fE 304
| B¥ fid] 3 =
3 BF R #F =
2 5209
3EHEI0%
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SRR I R
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I =
FRTEH
XRTHH B
COCOROME=E

3FM 3090 =
2 B fH] F# =
4 BF 3 =
2 85 | 0%
4 85 30%
2 B fH] F# =
5 B F =
| B 20%
4 B5R 1 0%
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COCOROMKREHA

| B=

2 BH=

| 38 f5] =

4 8BF ] =

2 38 [5] =

4 88F ] =

5 B F =
| B5fE 2059
4 651 1 0%

B fia]
B fia]

=

B
B
B
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NFRRTE S Bl
| L=
3 L=
8 L=

| 0OdL=
20dL=
50dL=

2 L=
2 L=
2 L=

dlL
dlL

dL
mL
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COCOROMKREHM

8 L =
5 L=
7 L=

20dL=
80mL=
90cc=

7 L=
| L=
3 L=

dL
mL

dL
mL
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COCORO#

0.5L = o

| .5L = L
| .3 L= cc
25dL= .
‘715cc= L
8.2L = dL
| .6 L= L

2.8L = o
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COCORO#*

| kL=
2 kL=
8 kL=

| O0O0OL=
5000L=
3500L=

8.2kL=
7.6kL=
3.5kL=
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8 kL=
3 kL=
6 kL=

2500L=
3700L=
8800L=

4.7kL=
8.3kL=
5.5kL=
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| g=
3 g=
8 g=

4000mg=
2000mg=
7000mg=

| kg=
8kg=
5kg=

mg
mg
mg
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4 g=
‘1 g=
5g=

5000mg=
8000mg=
| 000mg=

Tkg=
5kg=
4kg=

mg
mg
mg
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1. 1g= mg
2.5g= mg
3.7g= mg
1500mg= 9
6500mg= 9
2800mg= 9
2.5kg= 9
8.1 kg= 9
4.6kg= 9



o ~ ks [m] = [m]
Ij\-%—"*)fé—c g ) ﬁ‘-\-’- COCOROMLEHE

8.49= mg
3.99= m9
| .3g= mg
4800mg= 9
2900mg= 9
7700mg= 9
5.3kg= 9
2.8kg= 9
9.5kg= 9



> IR Y Sy N W [m] =
Ij\-%—"*)fé—c g ) ﬁ‘-\-’- C O COROMHKEHKS

2.79= mg
6.3g= mg
5.69= mg
2800mg= g
3700mg= J
8300mg= g
2.7kg= 9
9.5kg= 9
6.8kg= 9
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| m=
| m=
| m=

2 m=
2 m=
2 m=
lcm=
| cm =
| cm =

COCOROMKEHHM

cm
cm
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COCOROMKEHHM ]

3m= cm
2 m= cm
| m= cm
5m= cm
3m= cm
2 m= cm
5cm= mm
3 cm= mm

2 cm= mim
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COCOROMKEHHM

=55
T m= cm
3m= cm
2 m= cm
8 m= cm
2 m= cm
3m= cm
dcm= mm
2 cm= mm

3cm= mi
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COCOROMKEHHM

=55
dm= cm
| m= cm
2 m= cm
5m= cm
3m= cm
2 m= cm
cm= mm
2 cm= mm

| cm= mim
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T m=
3m=
| m=
8 m=
2 m=
3m=

4 cm=

COCOROMKEHHM

cm
cm
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| a=
20=
5a=

100m =
200m =
600m=

| ha=
2ha=
Tha=

COCOROMKEHHM

2
m
2
m
2
m

3, 3. 3,
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| a=
3a=
8a=

100m =
500 n =
q00ni =

| ha=
6ha=
Sha=

COCOROMKEHHM

2
m
2
m
2
m

3, 3. 3,
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| .2a=
2.5a=
6.7a=

100m =
1 20m =
250m =

| .l ha=
2.3ha=
7.5ha=

3, 3. 3,
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3.20=

6.8a=
4.7a=

230m =
820m=
670m =

5.2ha=
4. 7Tha=
8.l ha=

3, 3. 3,
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COCOROMBENM

| km = mz
2 km = -
3km = .
= 100ha
2 km = o
3km = iy
| ha= .

lha: kIﬁ

lha: a



